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int what(int[] a, int K){
//a%w 290m1 N 9732 TR 0°0NRI0D NPIPA 2D 18020 NIy

if (k==-1)return 0;
else return what(a, k-1)+a[k]%2;
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int something(int[] a, int X, int y){
/oMW 21907 *1W1 N 97132 TR 0°0RN93 NPAPR TP (I0%0 NIvY
if (x==y) return a[x] % 10;
else if (a[y] %10> a[x] %10) return something (a, x+1,y);
else return something (a, x,y-1) ;
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int whatl(int[] a, int k){
//@2w 9071 N 97132 TIYN 22WNIDI NP2PR TPEPIDT (0% NIvY

if (k==a.length)return 0;
else return what(a, k+1)+a[k]% 2;
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int something(int[] a, int X, int y){
//@°n5W ©°79072 "W N 97132 JIVA 2°I0RT9 NPAPK FYXPIDT (80710 NIV
if (x==y) return a[X];
else if (a[y]>a[x]) return something (a, x+1,y);
else return something (a, x,y-1) ;
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boolean whatl (int num1, int num2){
//[num2-1 num1 prarrn oMYy nYon N7apn N71WeN
if (num1l==num?2) return true;
else
if (num1*num?2 == 0) return false ;
else
return whatl ( numl1 /10, num2/10);

}

boolean what2 (int num1, int num2){
//[num2-1 num1n"72'7w-'% o'W 010N N7aNn N71WON
if(hum2==0)return true;
if (numl==num2)return true
else
if numl<num?2) return false;
else
return what2 ( num1 —num2, num2);

}
intwhat3(int] a, intk,intr ){
if (k<r){
if (what1(a[k], alk+1])) return what3(a,k+1,r);
eilfs(?/vhatZ(a[k],k) && what2(a[k+1], k+1))return 1+what3(a,k+1,r);
} elsr(?aturn what3(a,k+1,r);

else return O;
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int f( int m1, int m2)
Il . M1<m2 .2oHWw 037507 MW 0°WHRTDI NPAPK AW 70°10 NIV
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boolean t(int i, int j, int[] a ){
[l 7927 573 N .7Ym 222P1 25w 091907 W 209D NYAPA PRPNDT ¢ 70°10 NIV
/! . : NORY NIVY

if (j==a.length-1) return false;
else return (a[j+1] ==f(a[i],a[j]) | t(i+1, j+1,a));
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int doWhat(int num, int i){
it ((num+i) % 10==0) return num+i;
else
if ((num-i) % 10= =0) return num-i; ¥
else return doWhat(num,i+1);

int doWhat(int n){
return doWhat(n,0);

20997 7 in ¥y System.out.printin( doWhat(791)); 11 M2y 2pyn MY X
0997 77 an ¥y System.out.println (doWhat (87)); 101 2y apyn Y .2
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boolean what ( int num , int digit){
//digit 779901 nUM >21°1 o%w 1501 NPAPH TWEN
if (num < 10)
if (num == digit)return true;
else return false;
else
return what ( num /10, digit );

¥
void display( int [] a, int low , int high){

if (low <= high){
if (what (a[low], low % 10 )) System.out.printin ( a[low] );
display (a, low + 1, high) ;

else
System.out.println ( <***);
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double check(int[] a, int p, int q){

/o 5w 2*907 "IN DOMPW 0°1D0N TV N22PN 72O 100°10 NIV

if (p==qg)return a[p];
else
if (p+1==q) return (double)(a[p]+alq])/2;
else return check(a, p+1,9-1);

}

boolean secret (int[] a, int p){

if (p==a.length-1) return true;
else
return a[p] >check (a, p+1, a.length-1) && secret (a, p+1);
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double sod (int n, int c, double a){
if (n==0&&c==0) return 0;
else
if( n==0) return a/c;
else return sod (n/10, c+1, a+ n % 10);

double sod (int n){
/1 0 =173 0% 10N — N
return sod (n,0,0);

¥

boolean secretl (int[] a, int m){
if(m==0) return true;
else
return secretl (a,m-1) &&
(sod (a[m])-sod (a[m-1])==1);

boolean secretl (int [] a){

// @ bW 0°790n TN — a

// 0-n 0173 TIYN2 0°I2°RT 9D
return secretl (a,a.length-1);
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public static boolean what (int n, int d)

if (n<10)
return n==d;

if (N % 10 ==d)
return true;

return what (n/10,d);

}

public static boolean what (int n, int d)
{
if (n<10)
return n==d;
if (n% 10 !'=d)
return what (n/10,d);
if (n/10%10 ==d)
return false;
return what (n/100*10 + d, d);

}

public static boolean what (int n, int d)
{
if (n < 10)
return false;
if (n <100)
return n == 11*d;
if (n% 10 !'=d)
return what (n/10,d);
if (n/109%10 !=d)
return true;
return what (n/100*10 + d, d);

}

public static boolean what (int n, int d)
{
if (n < 10)
return false;
if (n < 100)
return n == 11*d;
if (n% 10 !'=d)
return what (n/10,d);
if (n/109%610 !=d)
return true;
return what (n/100*10 + d, d);

}
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